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And height of the mountain ,how to determine the distance that he has moved from the foot 14Bff EA 3
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1. ABCDEAHID
O©1RFE ; BCHHI
SEBA
ZBCD=ZHID
9:0, 6=y:36, 4
6y=32, 76
y=54, 6
&> TABCD» AHID
T2, BCHHI
2. tkhis
X:54,6=1, 5:0. 9
9x=81, 9
X=91
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Q. | 'want to know the height of the mountain(x), the length (y)from

content

ZHEER

the foot of the mountain (B)to the place(C) where he(D) had moved.

(D ABCD and AHID
Assume that it is BC//HI.
ZBCD= ZHDI
0.9:0.6=y:36.4
0.6 Xy=36.4%X0.9
y=54.6
Thus, A BCD and A HID resemble to ite

x=91

HE=R=
HREES
There is a mountain.
angle from here.

measure 9cm,
| know 54m 60cm.

If the height is 150cm ,| know 91m.

But it is the same measure.

@x:54.6=1.5:0.9
0.9 X x=81.9
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| want to know height ,length and lengthways.
| consider a mountain over there to be a triangle to a right

| use carpenter’s square at stepping back 36m 40cm in there

Standing tree by eye before set right angle measure.

Summary &Impression &future tasks

We were able to find lengthways and length using
a carpenter’s square.

We could make use of having learned by now
including the right angle when we determined it

We utilized knowledge of the mathematics that

we learned, and the problem of the “wasan” to
solve for the first time was very difficult so far.

We translate it into living language and think from
a mathematical viewpoint and translate it into
English. We think that we share it together and
were able to play each role in various ways though
it was serious.

Though a mathematics search, it was good to be
able to know the thought that “wasan” was
settled for at the time.

Because we think that a problem of “wasan” is the
problem that we do not know we want to challenge
a problem of other.
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